'&

« /% 2 S

L%ﬁ%zaxﬁ“m

\\\
: - iR
e\ Rerx o
|_ b i (\L”"& &/{3

j§«%vm

IEIEE 210 O s

L fhe il o

|Eﬁj(||15§ _ 21 3m

|E§I]\||1E|E W= 9 1m

-
)
-

HENBHOAX | I NI HEMM B E S HBEROE s

f
\ ‘ i,}\ﬁﬁgﬂﬁ ﬁ@gaA

\ /’f Rty

!ﬁimg YR A

{ MIERD L \
WIEEQ L=190. Om
%ﬁﬁﬂlaa W= 52.3m

—

itz
R
i
=
¥
R
h
b—
|
By
X
=
3
£p
N
=
15
%
2
9
=
7
Hh
5

922 Z
WSO Rt /’

Lt eEall| ~
1018
HERIN

/

507

Betrdo\

"o wg W
pS
B\
u)X\HHﬁ R

¥




S0 QTSR SR KO | X ¢ oM

=M ST

|

=
HX

210.0m $FIE
21.3m Ej'k‘ﬁ

L=




	スライド 1

